600

@

A EBEHEBR (1/8)

& B | »n<URVE

D&t 5

]
& | H1000

2 1040 (D

NEE=S | KFTH02241

T

D&HEN (1/8)

1040
45 945 57
O &
fel=] —3%
/ g_@
| |
o) El
— ‘
‘ (@)
\@ ot 2 &

03550

BUN 1720

RTARl. £HE 0
1) BRORZIWSETETT,

B% B 1% B B (mm) 1t B i E

] Il $60.5xt3.2 STK400 s sa

2 FPiE $60.5x t3.2 STK400 —_— fi*?ffij%m o
3 Fii*xrv 7 t1.6 SPCC ) i

4 FEHER (RAD 50x 64.5 AB0B3S BRI RSKE

5 FEMR GERD 50x64.5 AB063S BBt E A RE

6 MR 25x 60 AB063S BRBIEORE

7/ HHRLAZL t0.5 SGC HENREE (THEHY- %)
8 filhxyy T - ASA -

9 ANxvy T ¢ 1 6M F40OY -

10 HgB t4 ATYUA -

17 %28 t4 ATYUA -

12 W¥L8 t3 AFYLA -

13 AEY K $15 ATYUA -

14 AEY FL ity XY ¢ 198 CR -

15 PE t6 SPHC BEWREE (TBin- %)
16 kyy t6 SPHC BEWRZE (TBiv- ©)
17 by IRk $12 SGD BRIBH - &

18 kY YREE 3.2 SPHC BEWREE (TBivn- )
19 gy 4x 20 ATYUA -

20 Eg 12 &l -

21 SERMFEETH t1.6 SGH BEWRZE (TBjivn- ©)
22 Pk y t2 A6063S. EPDM -

23 Bt b M10x 100 4.618% BRIBH - &

24 i M10x75 4.618% Fridpno &

25 " M8x 80 ATYUA -

26 " MB8X /5 ATYUA -

27 FIANZY M4x 10 ATV A -

28 B N2 Y M4x 10 ATYUA -

29 4382y M4x 15 ATYUA -

30 F7A by - H52 B4 nA b -

) BRARISIROLY. FELRLEET 2 EHBYET,




